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b)

b)

ENGLISH VERSION

Instructions 1. All questions are compulsory and carry equal marks.
2. Statistical tables will be provided on request.
3. Use of Scientific calculator is allowed

Stating various definitions of statistics, write different types of data giving 8
illustration used in statistics.
A pediatrician tested the cholesterol levels of some young patients. The 12
readings are as under:
205 213 209 212 208 217 207 210 203 209
210 210 199 215 221 213 218 202 200 214
Construct a frequency distribution with classes 198-200,201-203,204-206.

OR

Define the following terms stating the formula:

L

Mean,

ii. Median, - iil. Mode,

v. Standard Deviation

The frequency distribution of the age of 100 women at the time of their
wedding is as follows . Compute Mean, Median and_ Standard deviation of
the data.

Age(yrs)

16-20 | 21-25 | 26-30

3135 | 36-40 | 41-45

No. of women 5 42 33

12 6 2

iv. Mean Deviation,

Define correlation Coefficient .State prapéities of correlation coefficient.
Calculate the correlation coefficient between the height of father and height

10

10

b)

of son from the given data.

Height of father (in inches) | 64 | 65

66 |67 68|69 70

Height of Son (in infhes) 66 | 67

6568706872

OR

What do you mean by Re€gression? State its important properties.

The following are the weights (kg) and blood glucose levels (mg/100ml) of

10 males.

Weight(X) | 64.0

75.3|73.0|82.1|76.2

95.7159.4193.4 | 82.1

76.7

Glucose(Y) | 108

109 | 104 | 102 | 105

121 |79 107 | 101

99

Obtain the line of regression of Y on X and estimate Y for X =67 kgs.
Explain the method to construct cost of living Index Number.

Using the following data, Compute Laspeyre’s, Paasche’s and Fisher’s Index

Numbers.
Commodity | Base Year (1990) Current Year(1995)
Price in Qty.in Price in Qty.in

Rs. Kgs. Rs. Kgs.

A 6 50 10 60

B 2 40 2 50

C 4 100 6 120

D 10 12 30 24

OR

10
0

—

12
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b)

b)

What do you mean by time series? Explain various components of time 10
series.
Compute the trend values by using a least squares method from the following 10
data and estimate the production for year 2010.

Year 2002 12003 | 2004 | 2005 | 2006
Production | 12 15 | 25 22 | 26

Explain giving illustration, the following terms- 10
i. Mutually Exclusive events
ii.  Equally likely events,
iii. Complementary event,
iv.  Union of events , and
V. Intersection of events
Find the probability of having 53 Mondays in a Leap year. 6

For two events, write down the mathematical form of Addition theorem of 4
probability.

OR
Define Binomial distribution. State the properties offhihomial distribution. 12
An unbiased coin is tossed 6 times .Find the propability of getting - 8
(a) 3 heads (b) at least 4 heads
Explain least square method for the fitting@€straight line. State its uses. 10

The following data shows the number(of mmedical claims ( in thousands) in 10

Ve a¥a .

out trend.

Year 1986 1987 1988 (MNO89 1990 1991 1992 1993 1994 1995

Claim 1189 1215 1187.°1191 1169 1178 1166 1167 1157 1182
OR

Explain the followingterms: 8
i) Null hypothesis,
ii)  Alternative hypothesis,
iii)  Population, and
iv)  Sample
A sample is taken from product of each of two factories A and B. the 12
following data is obtained :

Factory A | Factory B
Sample Size 250 400
Mean weight of unit in gm. 88 89.1
Standard Deviation 8.1 12.4

[s the difference between mean weights of the 2 samples significant?
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